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a
.

No solution if htz # o, so if he -2 .

b
.

There must be a free variable , so h= 2
,

but then the system is inconsistent .

So there cannot be infinitely many solutions .

C
.

There must be no free variables , so
the columns are linearly independent if k¥2 .

d
.

There are mare rows than columns
,
so

there cannot be a pivot in every row
.

Therefore , the columns of A do not

span IR
"

. (Or : three vectors cannot

span a 4 - dimensional space)



3.a . Fate .

A has more rows than

columns
,

so there cannot be a pivot

in every row . Therefore, AE -_ he does

not have a solution for all b- ERM
.

( thin .

4)

or give a counterexample :

A- too ! ) .

b- =L 's ] .

Then Az =L is inconsistent
.

3. b
. False .

1- (off ] )=T( ( If] )=

I:{gift:{Hath:D
or show :

Hz t y ,
-1 Yz

Taitt 's:D -

- TVE't 'M 't:I:" .!
=L: ;÷:÷::*.nl#tllTzHtllM


